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SHAMEDEE | -42 161 153 112 70 00 -28 -71 -43 -114 -332 -169 2.1
RENELBY -98 -56 -97 -120 -78 -101 -99 -142 -130 -137 -134 -149 -79
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7 38 48 5B 6B 7B 88 98 108 1B 12 1B 2B 38
3N ARTE DR 26 128 89 51 00 -65 -128 -208 26 -90 -359 -273 -717
BENELEY -77 -103 -139 -169 -105 -158 -115 -169 -120 -143 -143 -145 -78
3NAXRDREL 90 141 114 -38 -13 -13 00 -273 -171 -51 -13 39 -13
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3HARMEDLE | -9.1 9.1 9.1 00 -45 -95 -95 -91 -227 -381 -455 -364 -20.0
BEDESRY 0.0 45 -45 00 -9.1 00 -95 -182 -227 -190 -27.3 -27.3 -150
3HB%RORBEL | -227 -136 -227 -136 -182 -286 -143 -500 -455 -333 -455 -136 -10.0
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3HEMEDHE | -229 314 457 371 286 176 206 235 -12.1 00 -143 143 324
BEDELBY -229 -29 29 -86 -29 -59 -88 -88 -91 -121 -57 -114 -59
3HA%DREL 86 114 171 -171 -86 -147 -118 -412 -394 -91 200 229 147
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